MATH 49CA
SCHILLING

SELECTED Hw SOLUTIONS (SEC. 1GI0)

10.76 Refer to Exercise 10.2. Since the rejection region is Y < 12, the power is 1 - g = P(Y < 12{p).
To calculate power use Table 1.

{a) power = P{Y < 12]p = .4) = ,979 (c) power = P(Y < 12|p = .6) = .584

(6) power = P{Y < 12{p = .5) = .868 {d) power = P(Y < 12]p = ,7) = .228

The graph showing p on the horizontal axis and power = 1 - g On the vertical axis is omitted
here,

1079 (a) Refer to Example 10.23 in the text. The uniformly most powerfu) test is found to be the z
test of Section 10.3. That is, reject Ho: w = 7 iF

Yol Y27, )6 or V> 1.645 /75 +7=17.82

y 02/20 /5720

{b) The power of the test is 1 - g = P(Y » 7.82],).

=

For u = 7.5, 1-8=p(z> 8215

= P(Z > .64} = ,2811

For v = 8.0, 1-8=7(z>1B528y (25 - 36) = 6408

For =85  1-g=p(z>LB83 575 ) < o1m
Forw=3.0, 1-p=pz>lB3vp5 236 - 9509

{¢) Tne graph is omitted here.
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